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JOT,D,./KOpH Pyk.$ gylanad? A.P.CyntaHoOB

LWKkona |E>M05y nmuen Nel c.bonblueyCTbUKUHCKOE COLL p.A3nkeeBo [eHb
Mpuem nuumn Paspen Ne peu. bnopo Buixoa, r LieHa: KénopMﬁHocrb Benku | Mupbl | YrnesoAbl
CnoxHbii rapHup: Pbiba TyweHasa B Tomate C g Wl
osouamu (ropbyiua),Kawa rpeuHesas Lris
3aBTpaK rop.6niogo  |54-10p-4fpaccbinyatasn 280 93,67 an 26 19 49
rop.HanuToK |54-32xH KoMnoT 13 cBeXMnx A6I0K 200 8,31 42 0 0 10
xneb Mpom. |[Xneb NLWeHNYHbIN 30 2,16 70 2 0 15
3aBTpaK 2 dpyKTHI
CanaT u3 6enoKayaHHOMN KanycTbl C MOPKOBbIO U
Obep, 3aKycKa 54-93 A610KaMu 90 10,43 108 1 9 5
1 6nt000 54-32c |Yxa poCTOBCKaf 250 28,17 116 8 4 12
2 6n000 54-29m |®PpuKapenbku us roagutbl 90 63,90 172 12 11 6
rapHup 54-27r |Puc npunyuieHHbIN C TOMAaTOM 180 12,71 240 5 5 44
cnagkoe 54-20xH |Kucenb 13 anesbCMHOB 200 21,64 60 0 0 14
xneb 6en. Mpom. |Xneb NiIeHUYHbIN 30 3,24 70 2 0 15
xne6 uepH. |Mpom. [Xne6 pxaHoi 25 2,16 43 2 0 8




